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BACHELOR'S DEGREE PROGRAMME (BDP) 

Term-End Examination 

1:21CIE32 
	December, 2018 

(APPLICATION ORIENTED COURSE) 

APM-01 : INTEGRATED PEST MANAGEMENT 

Time : 3 hours 	 Maximum Marks : 100 

Note : Question no. 1 is compulsory. Attempt any 

eight questions from questions no. 2 to 10. 

1. (a) Differentiate between the following pairs of 
terms : 	 5x2=10 

(i) Monophagous and Polyphagous pests 

(ii) Cost-benefit and Benefit-risk ratio 

(iii) Niche and Habitat 

(iv) Repellents and Antifeedants 

(v) Host evasion and Host escape 
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(b) Define the following terms : 	 5x1=5 

(i) General Equilibrium Position (GEP) 

(ii) Food Chain 

(iii) Behavioural Control 

(iv) Acute Toxicity 

(v) IPM Module 

(c) Match the terms in Column I with those in 

Column II given below : 

Column I 

5x1=5 

Column II 

(i) Culex I. Termite 

(ii) Trap crop . II. Mosquito 

(iii) Ladybird beetle III. Snail 

(iv) Molluscicide IV. Biological 

control 

(v) White ant V. Marigold 

2. (a) Discuss the identifying features, nature of 

damage and management of rice stem 

borer. 

(b) Enlist any five pests of stored grains and 

discuss their integrated management. 	5 
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3. (a) Enlist any three types of insect traps used 
to sample insects. Discuss the use of any 
one trap in pest management. 

(b) Discuss future strategies to promote IPM. 

4. (a) Define cultural control. Discuss any four 
important cultural methods for pest 
suppression. 

(b) What is pesticide resistance ? Discuss its 
management. 

5. (a) What is a bio-pesticide ? Discuss important 
microbial pesticides used in pest 
management. 	 5 

(b) What is host-plant resistance ? Explain the 
process of host-plant selection by insects. 	5 

6. (a) What is quarantine ? Discuss any two 
legislations for its execution in our country. 

(b) Explain the concept and utility of Farmer 
Field School (FFS) in IPM. 

7. (a) What is IPM ? Discuss the role of IPM in 
sustainable agriculture. 	 5 

(b) What is IPM module ? Explain the basic 
components of IPM module. 	 5 
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8. Discuss the applications of simulation models 

and remote sensing in pest management. 	10 

9. Why are insects so successful as pests ? 	 10 

10. Write short notes on any two of the following : 2x5=10 

(a) Major IPM Strategies 

(b) Role of Transgenics in IPM 

(c) Insect Growth Regulators 
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